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QUESTION 1

You want to increase parallelism for greater integrated Replicat throughput while preserving the original transaction
atomicity. How can you achieve this? 

A. You can configure integrated Replicat with two parallel apply servers. 

B. You can configure integrated Replicat with two parallel child servers. 

C. You can configure integrated Replicat with the SPECIALRUN parameter. 

D. You can configure integrated Replicat with ASSUMETARGETDEFSand SPECIALRUNparameters. 

Correct Answer: A 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIORA/process_mode.htm#GIORA219 

 

QUESTION 2

Which replication topology requires conflict resolution? 

A. Broadcast 

B. Consolidation 

C. Master-to-Master 

D. Cascading 

Correct Answer: A 

 

 

QUESTION 3

Which GLOBALS parameter is required to initially enable monitoring? 

A. JAGENTMONITORING 

B. ENABLEMONITORING 

C. ENABLEOEMMONITORING 

D. CHECKMONITORING 

Correct Answer: B 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWURF/ gg_parameters053.htm#GWURF474 
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QUESTION 4

You need to look up table definitions in a file. Which Replicat parameter should you use? 

A. ASSUMETARGETDEFS 

B. COLMATCH 

C. SOURCEDEFS 

D. MAP 

Correct Answer: C 

 

 

QUESTION 5

You have a source table with a PRODUCT_ID column and a target table with PRODUCT_DESCRIPTION 

column. On the target database, there is a lookup table containing product codes and corresponding 

descriptions. 

What should you use to look up the PRODUCT_DESCRIPTION for each transaction? 

A. SQLEXEC ( ) 

B. DBLOOKUP ( ) 

C. DBLOGIN ( ) 

D. SQLLOOKUP ( ) 

Correct Answer: A 
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